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B 5 8 U A SYUHEFITITH] EPhE 4.4 | 1,551 549 | 1,549 | 1,549 99.9 99.9 99.9
FEMESREEER | SR EI1L ERTERWEHITIT H2 2.3 301 301 301 301 | 100.0 | 100.0 | 100.0
F T 7 i AR T ERNIL RS ERNIRE R 2.1 8 8 8 § | 100.0 | 100.0 | 100.0
T R SRME ERUNE APNIS S35 2 442 442 442 442 | 100.0 | 100.0 | 100.0
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— RIS | SIRA2T H15 SRmEER2T H15 2.5 | 1,124 103 | 1,074 | 1,074 98.1 95.6 95.6
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—RIEETEERILR | SRR BRI R MLIT HL 2.3 738 738 738 738 | 100.0 | 100.0 | 100.0
— RV A = A BN ERMHEHR3TH 1.3 310 310 310 310 | 100.0 | 100.0 | 100.0
— AU AR 1 ERUNIECLE SR 0.8 197 196 196 196 99.5 99.5 99.5
— MU A AR SRR GIRTTE 4R 3.9 935 935 935 935 | 100.0 | 100.0 | 100.0
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Tl R - R L GRFRIL2T H2 GRTEIRIT2T H L5 667 662 665 662 99.3 99.7 99.3
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— X 2495 LREMEHI LR AT 4.1 126 126 126 126 | 100.0 | 100.0 | 100.0
— A 2495 LR TAENT LRI RN 2.3 61 61 61 61 | 100.0 | 100.0 | 100.0
— X B 2495 LR R EH LREHH R 4 2.4 92 92 92 92 | 100.0 | 100.0 | 100.0
— X B 24975 L il s T L il s T 0.6 16 8 8 8 50.0 50.0 50.0
— 82495 LR AT LRA/N LG 1.9 81 81 81 81 | 100.0 | 100.0 | 100.0
F B 7 R AR LRSI LRSI 1.6 276 276 276 276 | 100.0 | 100.0 | 100.0
T R AR LR/ NENT LR SIS T 1 76 76 76 76 | 100.0 | 100.0 | 100.0
ESEH )y LR B LR B R A ] 1.5 23 23 23 23 100.0 100.0 100. 0
FEEH B LRIV LREM/NLLE =R RIS 1.2 109 109 109 109 | 100.0 | 100.0 | 100.0
B I A LR T REAT LR RN 1.6 79 79 79 79 | 100.0 | 100.0 | 100.0
B 7 K R LRI T LR AT 1.1 22 22 22 22 | 100.0 | 100.0 | 100.0
— U R LR Y LR 0.6 101 101 101 101 | 100.0 | 100.0 | 100.0
— IR 5 HE LR TAIAH] LR AT 1.8 159 159 159 159 | 100.0 | 100.0 | 100.0
ANVEATH | ALk E BhELE /NEATH R IRE I AR 0.7 39 39 35 35 | 100.0 89.7 89.7
JERE E B N T R HT ANERT T 1 35 34 23 23 97.1 65.7 65.7
— i FE 8 M [N AT 0.6 8 8 8 8 | 100.0 | 100.0 | 100.0
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T 5 L R R i By T = SR ARTT i BT HEIT 7.8 425 425 425 425 | 100.0 | 100.0 | 100.0
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— B A L AR BT BNy I R 1.1 250 250 250 250 | 100.0 | 100.0 | 100.0

A 5 7 P AL L I AR I T AR 0.5 207 207 207 207 | 100.0 | 100.0 | 100.0

— I E R RS A TR | R T R SR I T R LR 0.7 30 30 30 30 | 100.0 | 100.0 | 100.0

T | AR T AR A ¥ & — | IV gy e 5T 0.3 22 22 22 22 | 100.0 | 100.0 | 100.0
—fi [ 82495 M T TIMETH gl 2 246 245 246 245 99.6 | 100.0 99.6

—fi [ 82495 FIMETH H T AR AT 1.4 98 98 9 98 | 100.0 | 100.0 | 100.0
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